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QUESTION 1

Which additional three traffic egress controls may be enabled in Cisco UCS Manager depending upon the network
adapter selected? (Choose three.)

A. Rate

B. Best Effort
C. Host Control
D. Peak

E. Burst

F. Smooth

Correct Answer: BCE

QUESTION 2

What is contained in Service Profiles?

A. Management and server configurations

B. Identity and state information for a logical server
C. Application specific service requirements

D. State information for a physical server

Correct Answer: B

QUESTION 3

What aspect of Cisco UCS servers enables multi-tenancy and provides an administrative hierarchy to organize
resources?

A. Resource pools

B. Organizations

C. Service profile templates
D. Service profiles

Correct Answer: B

QUESTION 4
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Which three scalability options are applicable to Cisco HyperFlex? (Choose three.)

A. Add additional hyperconverged nodes to expand both storage capacity and compute resources

B. Add compute-only nodes to expand compute resources without adding additional storage capacity

C. Add memory-only nodes to expand memory resources without adding storage capacity

D. Add network cards to increase 10 without adding node capacity

E. Add additional storage to existing nodes to efficiently expand storage capacity without adding compute resources
F. Add clusters to improve overall system performance and manage with UCS Central

Correct Answer: ABF

QUESTION 5

Which statement is true regarding the Cisco UCS 6296UP Fabric Interconnect?
A. Maximum number of Expansion slots: 3

B. Form Factor: 2RU

C. Maximum number of Ports: 96

D. Requires UCS Performance Manager

E. Supports 100GE

Correct Answer: C
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